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(system) (equipment)
(components)
(indenture leve) (subsystem) (unit) (module) (part)
(weighting factor)
ARINC AGREE

2
2.1

(D).

(2.
HLP:rrs-alo 1 2000/12/18

000000 http://www.kekaoxing.com



http://www.kekaoxing.com

3).

(4).

2.2

(1).
2.
).
4).
5).
(6).
7).
®).
9).

(trade-off)
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-
-

-
-

Ul

1

2.3
(reliability block

diagram, RBD)

(reliability mode)
2.4
f(Ry,R2,+Rn)® Rg D)
f(Rj,i =1n)
HLP:rrs-alo 3 2000/12/18

000000 http://www.kekaoxing.com



http://www.kekaoxing.com

R; [
D
Ra(t)Ra(t) R (t)2 Rs(t) ")
@
( )
Q). (importance or criticaity)
(2. (environmenta conditions)
). (complexity)
(4). (sefety)
(5). (cost)
(6). (maintainability)
(7). (state of art)
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2.5

(MTBF)

(2).
(2). ARINC

(3). AGREE

(4).
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3.1

(equd dlocation)
n Rs
Rs:RlRZ"'Rn (1)
R=R, R.=R @
) «y
R=(R)" ©)
i
Ri = Rs% = sti (4)
| W;
w, =2 (5)
n
3.2 ARINC
ARINC Aeronautical Radio Inc. 1958
n Rs = E(p(- l st)
(1) i
(w,) i (R,)
w; = (6)
al;
i=1
HLP:rrs-alo 6 2000/12/18
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R; =R." ()
[ ] 0.998

t=1 ARINC

(fr/hr)
0.0001
0.0002
0.0003
0.0004
0.0005

QB (WIN]|F-

Rs :exp(- | st)

0.998 t=1 |

| ¢ =0.002fr/hr

5
a ! =0.0001+ 0.0002+ 0.0003+0.0004 +0.0005
i=1
=0.0015

_0.0001

W, = ———— =0.0667
0.0015

R; =exp(- 0.002" 1)*9¢7 =0,99987

w, = 0.1333
W 5 = 0.2000
w, = 0.2667
ws = 0.3333

HLP:rrs-alo 7 2000/12/18
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R, =0.99973

R =0.99960
R4 =0.99947
R =0.99933
3.3 AGREE
AGREE (Advisory Group on Rdiability of
Electronic Equipment, AGREE) 1957
( )
( )
(ni ) (N) (Ci)
1
RS
X S
Rq(t)=OR;(t) =O[1- (- Ri(1)]
i=1 i=1
R; [
| Ci
K
Rs(t)=O[L- ¢2- R(t))]
i=1
[ n;
Ri(t)=1- ¢;2- Ri(t) =[Re(t]"
) n;/N
Ri(t) =1- % ®
HLP:rrs-alo 8 2000/12/18
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Ri(t)=ep(- 1 t;)

1.2 1.3
exp(-X) =1- X +—=X"- =x"+---»1- X
(%) 2! 3

Ri(t;)=[1- cif1- exp(- 1t )]l = (Ro(t; )"
- ot @1 )= (R(t)™™

1- ¢ty = (Re(t; )"

1- ¢l ity » e(p(- cl it)
ool i 0)= (R

oy _min(Ry)
171 N

- _nl n(Ry(0)
! c; Nt
:ﬂi' ln[Rs(t)]
Nc t

©)

(a)

HLP:rrs-alo 9 2000/12/18
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o Nxgd

W R]
_N¢g
_n_iT' ln[Rs(t)]

1
a* =1+ xlna+5(xlna)2 +--»1+xIna

R R

Ri(t)=1 - c

R, (t;)=1- Nit- MRs(t]

1 (10)
=1- S ={ in[Ry(t)]
Ci
| = i
ni | ( )
Rs(t;) t;
t; i
Ci I Pr{ I }
[ ] 10
0.95
9 0.95
8 0.90
30 100
50 80 AGREE
[ ]
N 30 100 50 80 260
HLP:rrs-alo 10 2000/12/18
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_3d- In(0.95)]

1 (260)(1.0)(10) =5.918'10°¢

_100[- In(0.95)]

? " (260)(0.95)(9) =23.074" 10" *

_50[- In(0.95)]

s = (20N 0[10) =9.864" 10°*

4 :w =21920" 10" 4
(260)(0.90)(8)
R, = epl- 5,918 10 10)=0.99410
R, = exp|- 23.074" 104" 9)= 0.97045
R; =exp(- 9.864" 10°4 " 10)= 099018

R, =exp| 21.920" 104" 8= 0.98262

[ ] 12 Rs=0.923
1 102 12 1.0
2 91 12 1.0
3 95 3 0.3
4 242 12 1.0
5 40 12 1.0
570
[ ] Rs=0.923
Agree
ql_- 570" 1.0" 12 _ 37 Iy

102" In(0.923)
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_-570° 10" 12 _

= =938 hr
92 = 51 n(0.923)
Gy =" 570 03" 3 _
95" In(0.923)
Q=" 570° 10712 _ 55y,
242" In(0.923)
G =" 57010712 _ 5y,
40" In(0.923)

Ry =exp(- 12/837) = 0.9858
R, = exp(- 12/938) = 0.9678
R3 = exp(- 3/67) = 0.9562
R4 = exp(- 12/353) = 0.9666

Rs = exp(- 12/2134) = 0.9944

R =0.9858" 0.9678" 0.9562" 0.9666" 0.9944 = 0.9232 >0.923

3.4

(rating)

HLP:rrs-alo 12 2000/12/18
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Kk [ ]
Xijk ' J Yi
N
a Xij
Yij = kle (11)
Wi
D).
M
OYj
wi =15 (12)
é @) YI]
i=1j=1
2.
M
a i
Wi = sziﬂ (13)
é é. YI]
i=1j=1
W; |
R; = (Rg)" (14)
=1- wi{l- Rs)
[
| i = W; I s
l S
3.5
Thurdone Mogdler
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(D).
(2).
).

3.51

(norma distribution)

0~3 0

X(i.j) j i
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PLgr=

).

3).
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(4).

m n
p k L [ |
X Lijk
] i
19
Yiij = — a Xiijk (15)
P k=1
L J [
5
®).
8
PLij
Yyj +4
- (16)
Lij )
PLi 0.5 j 0.5
i
L J |
6
(6).
Zyjj
ZLij =F" 1(PLij) (17)
F (Y F
x 1 el o0
FX)= 0, —&eXpc- =X~ #x
( ) Oy @ g 2" &
] i
| TLi
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TLI -—a ZLI] (18)
=1
L J
(7).
i
Z'Lij
Zij =Ty - TylEiLjEmiit | (19)
L
(8.
P'Lij
P = F(Zwj) 20)
L J [
9
(9).
P'qu
P'Lpg= min min {P Ljj 21
-Pa 1£i£m1£j£m{ L”} ( )
q q
L
(20).
q
T'Lq =0 r T'Lr
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0.8125£ P qr <1.0000 Tir=3
0.6875 £ P:Lqr <0.8125 T:Lr =2, 2
0.5625 £ P Lar <0.6875 T Lr = :L
0.5000 £ PLqr <0.5625 T Lr =0.
L
Sr
R (R
Sr=aTuLwr (23)
L=1
10
(12).
WI’
W, = > (24)
m .
asSr
r=1
(12).
Rr
R, = (RS)Wr (29)
HLP:rrs-alo 18 2000/12/18
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(A,B) (A,C) (A,D) B,0 (B,D) (CD)
X1,A,Bk X1,A,.Ck X1,A.Dk X1,8,Ck X1,8,D.k X1,cDk
X2,A Bk
X3.A,Bk
X4,A Bk
X5A,B.k
X6,A,B.k
X7.A.Bk

1.
2.
4 (X Lijk)
i A B C D
i
A Xq|Xo|X3| X4l X5[X1 [Xo| X3 Xa| X5 X 1| Xo| X3| Xa| X5
B Xq|Xo|X3| X 4| Xs5|X1|Xo| X3|Xa| X5
C X1|Xo|X3[X4|X5
D
1 m=4
2. 5
5 (Yy)
i A B C D
i
A YLAA=0.00 YLAB YLAC YLAD
B YLBA=-YLAB YLee=0.00 YLBC YLBD
c YLca=YLac | YiLceB=YLBC YLcc=0.00 YLcp
D YLpA=YLAD | YiLDB=YLBD | YLDC=YLCD YLpp=0.00
6 (PLij )
i A B C D
i
A PLAA=050 PLAB PLAC PLAD
B PLeA=1-PLAB PLee=0.50 PLBC PLBD
C PLca=1-PLac | PLes=1-PLac PLcc=0.50 PLcp
D PLpba=1-PLaDp | PLoe=1-PeD | PLDc=1-PLep PLpp=0.50
HLP:rrs-alo 19 2000/12/18
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7 (Z,;) (Ty)
i A ) C D
[
A ZLAA ZLAB ZLAC ZLAD TLA
B Z BA Z BB Z BC Z1BD Tis
C ZicA Zica Zicc Zicp Tic
D ZLpA Z.pB Z1pC Z.pD Tip
8 (Z'ij)
i A B c D
[
A Z an Z LB Z ac Z LaD
B Z 1A Z igp Z 1gc Z 18D
C Z Lca Z e Z icc Z Lo
D Z oA Z LpB Z ipc Z Lbp
9 (P'Lij)
j A B c D
[
A P LAA P LAB P Lac P LAD
B P 18A P LBg P LBC P 18D
C P Lca P e P lLcc P Lco
D P oA P DB P Loc P Lob
10
A B C D
T A T T T b
T A T B T C T D
T A T B T C T D
T A T B T C T D
T A T B T C T D
T A T T T b
T A T B T C T D
S A Sg S ¢ S
=SS=S A+S g+S +S p
WAzé AISS WB:é B/SS Wczé c/SS tzé p/SS
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3.5.3

0.90

Wy == =0.2272
22

wg = =03182
22

We =2 =0.3636
22

Wp = -2 = 0.0909
22

R, =(0.90)7% =0.90°%72 = 0.9763
Rg =0.907% =0.90%%182 =0,9670
R =0.90%% =0.90%3%6 =0.9624

Rp = 0.907% =0,90%%% = 0,9905

5a-9a
10a

HLP:rrs-alo
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4 (X Lijk)
j A B C D
[
A 2(1(2|2|2|2|2|3|3]|3]|-2[-1|-3]|-1|-1
B 2|2(3|2|3|-2|-2|-3|-3|-3
C 2|-2(-3|-3|-3
D
1 m=4
2. 5
5a (Yy;)
j A B C D
[
A 00 18 26 16
B -18 00 24 26
C 26 24 0.0 26
D 16 26 26 0.0
6a (Pj;)
j A B D
[
A 0.500 0.725 0.825 0.300
B 0.275 0.500 0.800 0175
C 0175 0.200 0.500 0175
D 0.700 0.825 0.825 0.500
/a (Zy) (z,;)
j A B ¢ D
A 0.0000 05978 0.9346 0.5244 0.2520
B -05978 0.0000 0.8416 -0.9346 -0.1727
C -0.9346 -0.8416 0.0000 -0.9346 06777
D 0.5244 0.9346 0.9346 0.0000 0.5984
HLP:rrs-alo 22 2000/12/18
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8a (Z'ij)
j A B C D
A 0.0000 0.4247 0.9297 -0.3464
B -0.4247 0.0000 0.5050 07711
C -0.9297 -0.5050 0.0000 -1.2761
D 0.3464 0.7711 1.2761 0.0000
%a (P'Lij)
j A B C D
A 0.5000 0.6645 0.8237 0.3645
B 0.3355 0.5000 0.6932 0.2203
C 0.1763 0.3068 0.5000 01010
D 0.6355 0.7797 0.8990 0.5000
10a
A B C D
1 2 3 0
1 2 3 0
2 1 0 2
1 2 2 0
5 7 8 2
=22
0.2273 0.3182 0.3636 0.0909
HLP:rrs-alo 23 2000/12/18
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( )
4.1
f(x) f'(x)=0
n
i=1 i=2 i=3 i=4 i=n
2
D. )
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N
max 0(1' F.k') (26)
kil Kj=q
<=k = 2 +fl
= L Ki[K; ;i=12---n, aVikiEv y
t i=1 b
2. ( )
n
mn 4 vk @27
kil k =4
k:}:kikl =120 (D)ﬁ F|k')3 RLY
t i=1
H i
ki i ( +1)
V* ( )
n
Rs
® <
Ki (26) (
) (26)
max O - ) (28)
kil k j=1
f n .
k=qkjlkj®1 =120, gvik; =v v
t i=1
( )L(ki.1)
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k=
i

(28)

—a
x

oy
~——

*
o

(29)

(30)

(31)

(ki - 1)
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n
avik; =v (32)
i=1
T,
K;
FInF
K |Vi:0
1- F
nZ lv; ©
glvi-InF,B
i = (33)
InF
(32)
& Ivi 0
In T
X & lvi-InFg =«
aviki=avj | =V (34)
i=1 i=1 R
Vi
& lv; dnfk v
=e 35
ng InFlQ, (39)
ek 0
Ing—'izc ) (36)
Vig
F ( Vi
(36) (35)
Cc
~% |V| 9]/ _ev*
lvi-cv B
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1. MIL-HDBK-338-1, Electronic Rdiability Design Handbook
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